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MATHEMATICS

YHAR 10-STAGES5.3

TERM 3 TEST

1 The graph below shows details of Simon's trip from Town B to Town A.

Marks

SEPTEMBER 2009

Time Alfowed: 50 minutes

INSTRUCTIONS

+  Answer all questions on the writing paper provided. Marks for each question are shown.

+  Caleulators may be used.

+ Show all necessary vworking.

+ Muarks may not be awarded for careless or badly arranged work.

(b) Find the size of each angle in a regular icosagorn.
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(2) How far apart are the two fowns? 1
(b) Between which two times is Simon's speed the greatest? 1,
() How fast was Simon fravelling at 12 pm? ‘ 1
(d)y Atwhat tim‘e(s) was Simon 90 ki from Town B? 1
(&) What was tlie tofal distance that Simon fravelled? 17
2 Shakespeare's Globe Theatre in London was constructed in the shape of a regular icosagon,
which is a polygon with 20 equal sides.
(a) Calculate the angle sum of a regular icosagon. 2
1
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Iatch each-of the following graphs with its equation from the given list. 5 4
. Is; D
Equation: €O .
. AY
A =2 ol E F
B 2x+y-4=0
© % +y2 =4 - -~
o 2 X G
o y=x2-1 It the di . . -
he diagram above, CD is parallel and equal to EF, and EF bisects CG.
2 !
® y=a-x-2 (@) Prove that ACDE = AEFG. 3
{b) Hence show that DE is parallel to FG. 2
)] & : .
Y\ ¥ AY 5 James fills a conical flask with water from a tap. Water flows from the fap at a consfant 3
1ate. :
43 a2t .
\ () Onyour answer page draw a neat sketch of the graph of )
S~ he Reight 6f the water level in the conical flask against
ol L . time,
S 2 %
- 5 i, 21
2 x * 3 . -
y \ (b} Which of the folléwing terms best describes the change in the height of the water
ievel in the conical flask?
4 ) (A) Height is increasing af an increasing rate
Y i
Ay / (B) Height is increasing at a decreasing rate
i1 .
{C) Height is decreasing at an increasing rate
P . (D) Height is decreasing at a decreasing rate
T R x e U 1 % "
6 A certain quadrilateral has one pair of opposite sides equal and one pair of opposite sides 1
parallel, The qiiadrilaterat conld be:
y Y (A) arhombus (B) atrapezium (C) asquare {D) all of these
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7 (2) “Whatisthe name of a curve which has an equation of the form: 3 10 4
B y=a : P
@ y=a’
(i) y=a
(&) Which of the curves above have asymptotes? o B |
g ' ’ . 0 A R

* In the diagram above, PQ is perpendicular fo OR and PS = 30, Prove that AQRS s an
. isosceles triangle.

Tn the diagram above, £PST= /£ PRQ.

(&) Trove that APST is similar to APRQ. 2

{5) Hence find the value of , 2 D . . G F

In the diagram above, EX is perpendicular to DF and DE is perpendicular fo FE,

" 9 On your answer sheet, draw a large peat sketeh of each of the following equations. 10 ' P -
Give the co-ordinstes of at Jeasfitwd points on each graph. ) (&) Prove that ADGE and AEGF are similar triangles.

@ y=@-37 . B (b) Hence show that EG*=DG x GF. - 1
() y=5-dr—2*

(€& 2+y¥=9
1 - e .
@ y=—L . | : : ENDE DER PRUFUNG

x

(&) y=10-2".
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